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POLITICAL SCIENCE

Full Marks : 100
Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks

for the questions.

PART-A (¥ -9)

Q. No. 1 carries 1 mark each (any six)

Q. No. 2 carries 2 marks each (any six)
Q. No. 3 carries 4 marks each (any five)
Q. No. 4 carries 6 marks each (any two)

PART-B (¥ -92¢)

Q. No. 5 carries 1 mark each (any six)

Q. No. 6 carries 2 marks each (any six)
Q. No. 7 carries 4 marks eacly (any five)
Q. No. 8 carries 6 marks each (any two)

Total (Part A & B):

16 = 6
2x6 = 12
4x5 = 20
6x2 =12

Total = 50

Ix6= 6
2x6 =12
4x5 =20
6x2 =12

Total = 50
50 + 50 =100

Contd.



1.  Answer any six from the following questions :

PART-A /-9
( Contemporary World Politics)

(TR 74 e )
1x6=6

el Pz Rz ghiT ved o ¢

(@)

(b)

(c)

(d)

(e)

0

(8)

(h)

()
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In the Second World War, a member of the Axis Powers was the | ,/)
Soviet Union / Germany. (Choosc the correct answe

—;Wf}aqﬂé—z}f? /('ETF—(?I%
%ﬂnﬁjgww:mfﬁ—wmwwwr@ﬂ ;ﬁ w?frw%@ﬁf\%f)

How many independent states emerged from the disintegration of
the Soviet Union ?

GIfSTEs 2ofaw dAfes “Cif%*mmw?rﬁar@a 515+ (%feaT 2

In which year 9/11 terrorist attack on the United @tates was carried
out ?

IERF TEAT oo (FF TS 5/55 W e Teafre T2l 2

In which year was Bangladesh born as an independent country ?
(I F© IENCT 9 FI G ol T 2o

In which country was the Earth Summit held in 1992 ?
(T TGS Sod3 TS PFI AW ST (55w 2

Write the full form of UNEP.

UNEP-3 3=9)¢{ F[(B1 faya |

Who is the present Secretary General of U.N.O ?
AGRI TEAW b7 2 (P2

When did Cuban Missile crisis occur ?

(T S TN o S e e

Berlin Wall was demolished in the year (Fill in the blank)

211151?1 <eT PRICECHO ZQ{EI . (?/77"?? jf? a‘?‘f W)
The colla f wh : i .
W pse of which cou ntry is known as the collapse of the “Second

T a@a o “TaSH R steny fapiey Sl A 2
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2. Answer any six questions from the following :

2x6=12

fefeie e Rt g5r7 ©ed @l 2

()

(b)

(c)

(d)

(e)

Mention two consequences of the end of the Cold War.

Med I& o9 (FR 7o SR w34 | |

Which were the member countries of ASEAN when it was formed in
1967 ? ' :

Y3V 5T ASEAN SI5<@ FNTS FRAGTCOIR I AFTZ (i Siifeed 2

What is the difference between Deterrence and Defence ?
Ta RS Sis dfowsia Ted AL G2

Mention any two areas or regions of the world known as Global
Commons. :

AT T I Gt iR R 757 Siwe Ji e

Mention two causes of Globalisation.

P 75 e T 41 |

() Mention two economic consequences of Globalisation.
iR 757 SdifeT sfFel T 0|

(g9 Mention two conceptions of Security.
faiofel ToiE 4Bl 7or aFell S ]|

() Mention fwo areas of conflict between India and China.
SIS IWF HIN (T R AT 70 CFq S T |

(i)  Write down the names of the Permanent Member States of Security
Council of U.N.O.
AP [Riore AR T e /RIS 1w I

(j)  Write fwo constraints on American hegemony.
N Sifaerom o) 4 75 2foqsael 4|

3. Answer any five from the following questions : 4x5=20

frsfefs empres R H5oe Tea o ¢

(a) ~ Discuss how the policy of non-alignment helped India during Cold
War period. '
Aot Ja3 SABIAS (IfS) FarerForiy @EwE SNed S TR
T 4] |

(b)  Briefly discuss the factors that forced Gorbachev to initiate reforms in
the Soviet Union. |

33T POSC
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SRR AN Sk ;

(c)

(d)

(e)

("

()

()

(AR PR ARESE m@wﬁaﬁﬁmmﬁwaﬁaﬁmﬂmﬁfiﬂ
5@ SENbAl

Mention fwo economic and fu
Union.

PO G N AR GICEIES 7o) AR oo Sl T

vo areas of disagreement

0 military influence of the European

Mention fwo areas of co-operation and tt

between India and Bangladesh.
S W AR A A 75 FA Tl 751 Torewd A TUEd

S|l
Write a note on the idea of global security.

(IR fRiPTeR AR @PT |61 (BIR @l
Write a note -on the anti-globalisation movement.

e R Stwiewe RE@ @61 Gt o

What are the grounds on which India supports the restructuring of

U.N.O. ? Discuss.
& gfew fofes ooz IAPRTT sl AfFEaF TILN I BN I |

Discuss in brief the functions of the World Bank.

e 5 FARRPTZ BICE BB 341 |

4. Answer any two questions from the following : 6x2=12

=R eprR fre 75T e e g

(a)

(b)

(c)

(d)

T POSC

Discuss U.S. hegemony as the World Superpower.

fre e feoe SR Jemgs wifkerem R Sicesa < |
Discuss how health epidemics are new threat to global security.
Y T o dm fy Farere ofe T SRS SCEABA |

Do you think that India should be gj
: > glven permanent ip i
the UN Security Council ? Justify your ar?swer. nt membership in

S e

Wi .
rite a note on the principal organs of the United Nations

BT T SRR ok Bt (Bt e
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PART-B / 4-9d
( Politics in India Since Independence)

( e oFed e )

5. Answer any six questions from the following : 1x6=6

e ey R 2519 Tl &t 8
(@) In which state of India, for the first time in the world, a Communist
Party government came to power through democratic election ?

RO (IR TS AT OIS ALTARE A (P! <€G1 AT T

SToifEs RIS gt el Te SR ?
() was the chairman of the Drafting Committee of the
Constituent Assembly. (Fill in the blank)

SRR O 4oal AR TS et (et A2 oI T

(¢ Where was the first Summit of NAM held ?
NAM-G3 22 (BRI Five Aem T Sfos (2w ?

(d) China invaded India in 1960/1962/1964. (Choose the correct answer)
5 S SIFTd TREET S5U0/ Soby/ Sous 5S | (9& TGICH! b OfS3)

() Mention the name of a prominent leader of the Narmada Bachao
Movement.

T TS AT GTw / QIR AL @l / R T G 4
() When was the State Reorganisation Act passed ?
i PR RIEST @ oS RS @fEEe

() The Right to Information Act came into force in 2005.
' (Write True or False)

B2 GHIT TR B 200¢ 5 TR @EAl (Y (7 T fF730)
() In which year the Shah Commission of Inquiry was appointed ?
wZ O Sl (i IXS fNeae T e e
(i) Who started “Total Revolution” ?
“srffgrs K™ I SIS IR ?
) Who was the founder President of Bharatiya Jana Sangha ?
OReT Ted Afdiom Aol (P wifeE e

6. Answer any six questions from the following : 2%x6=12

REfRe T Rreral g5i9 Ted o 3
(1) Mention two challenges India faced immediately after independence.

el #red 2 Preres ooy T (I 707 AR TE 3 |
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(h) Mention fuwo consequences of the Partition of India.

s ForeT 7o) A S 241

Congress candidate for the Presidential election

(c) | Who was the official

in 1969 ? Who won the election ? . S
Spus E AEARS Gy e verd il =1 2 W’W

TS FA1RE ?
(d What do you mean by Defection ?

verensl I & e e

() Mention fwo consequences of the Mizoram Accord signed in 1986.
Savy 5T FERS (@4l fraE pies 75! AReIfe Trad T

() Mention two features of popular movements in India.
S Sl STwETTEd 75y (AR SrEd 1

(g9 Write two causes of origin of regionalism in India.

Sreae wieRToRmE Sesifer 75 FRd ol

(1) Write any two features of coalition government in India.
Sies FAIFTS 5aIRe Rree 7o [@Fey v

(i)  Write two consequences of 1977 Lok Sabha election.
+599 5 (FIF ol Wb 75) wetrwe fordl |

() Mention two consequences of National Emergency declared in 1975.

153¢ HNS (FEN T TSI TN SRR 707 AR Trad 1|

7. Answer any five from the following questions : 4x5=20
f=ffre exezR Rt 2o el &1 g

(a) Dis.c1'1$s briefly the causes of the dominance of Congress Party in the
politics of India after independence. ‘

FITO fA%e SRed AewIos Fag 7o A TR 510 SED
N¢ I
40

(b) What were the major objecti .
> jectives of Jawaharlal N , : .
Discuss briefly. ehru’s for§1gn policy ?

=) (O G et 3 =TT & wifien? st s
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(c)

(d)

(c)

1)

(g)

()

Write a short note on the demands for autonomy in North-East India.
CIRET Teq sffieeeTe I AT €S, <1 5 (BIF! fa<i |

Discuss the factors that helped BJP to emerge as a dominant political
party.

s o e v Bore afed (@are 72w =1 FRETIE b
4 |
Give suggestions to curb communalism in India.

CREIES ArEmiTaerv (@49 AE A @

Write a noté on India’s nuclear policy.

TIeq NIRRT T eo® GOl (GBI 1

Mention two positive and two negative consequences of the Green
Revolution.

(8T Reigq 75y (@O O% 757 4T Fere [RA e 341 |

Write any four features of Indian party system.

SR W AR Rewiz 51R5) (@M B

Answer any two questions from the following : 6%2=12

RS eerEa Rreear g Tt o g

()

(b)

(c)

d)

33T POSC

Discuss the changing relations of India with Pakistan.
AT (O OIS ARSI TiF [ SIesa 31 |

Briefly discuss about the controversies regarding emergency. Was
the emergency necessary ? | ‘ 4+2=6
GEIEEN SRR TS TS RSNz 530 Wil 1 | S
SR (AN Y AT iRt (72

Explain the reasons for the emergence of the Coalition Polities in the
Indian Democratic System.

SIS SITONET IS FRYE AN SER PREFTZ 1T 9 |

What do you mean by planned development ? Discuss the role of
Planning Commission in the development of India. 2+4=6

WWW%W?WWWWNW
A 9 | S
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